
SAP ABAP table CKHS {Header: Unit Costing (Control + Totals)}

CKHS

MANDT [CLNT (3)]

LEDNR [CHAR (2)]

BZOBJ [CHAR (1)]

KALNR [NUMC (12)]

KALKA [CHAR (2)]

KADKY [DATS (8)]

TVERS [NUMC (2)]

BWVAR [CHAR (3)]

KKZMA [CHAR (1)]

BUKRS [CHAR (4)]

KOKRS [CHAR (4)]

FCPMG [CHAR (4)]

KKART [CHAR (4)]

MEEHT [UNIT (3)]

HWAER [CUKY (5)]

FWAER [CUKY (5)]

KURST [CHAR (4)]

ME_SUMM1 [UNIT (3)]

EXTNR [CHAR (18)]

AUFNR [CHAR (12)]

OBJNR [CHAR (22)]

TKURST [CHAR (4)]

TWAER [CUKY (5)]

KKBWVAR [CHAR (3)]

CKCM [CHAR (10)]

CKCMV [NUMC (15)]

AUFK

MANDT [CLNT (3)]

AUFNR [CHAR (12)]

 CKHS-AUFNR = AUFK-AUFNR 
0..N

1

CKBS

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

EXTNR [CHAR (18)]

 CKHS-EXTNR = CKBS-EXTNR 
0..N

1

CKCM

MANDT [CLNT (3)]

MODEL [CHAR (10)]

 CKHS-CKCM = CKCM-MODEL 
0..N

0..N

CKCMV

MANDT [CLNT (3)]

MODEL_VAL [NUMC (15)]

 CKHS-CKCMV = CKCMV-MODEL_VAL 
0..N

0..N

ONR00

MANDT [CLNT (3)]

OBJNR [CHAR (22)]

 CKHS-OBJNR = ONR00-OBJNR 
0..N

1

T000

MANDT [CLNT (3)]
 CKHS-MANDT = T000-MANDT 

0..N

1

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]
 CKHS-BUKRS = T001-BUKRS 0..N

1

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 CKHS-MEEHT = T006-MSEHI 
0..N

1  CKHS-ME_SUMM1 = T006-MSEHI 0..N

1
T821S

MANDT [CLNT (3)]

SPRED [CHAR (4)]

 CKHS-FCPMG = T821S-SPRED 

0..N
1

TCK05

MANDT [CLNT (3)]

BWVAR [CHAR (3)]

 CKHS-KKBWVAR = TCK05-BWVAR 

0..N

1

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 CKHS-FWAER = TCURC-WAERS 

0..N

1

 CKHS-HWAER = TCURC-WAERS 

0..N

1

 CKHS-TWAER = TCURC-WAERS 

0..N

1

TCURV

MANDT [CLNT (3)]

KURST [CHAR (4)]

 CKHS-KURST = TCURV-KURST 

0..N

1

 CKHS-TKURST = TCURV-KURST 

0..N

1

TKA01

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

 CKHS-KOKRS = TKA01-KOKRS 

0..N

1

TKKEA

MANDT [CLNT (3)]

KKART [CHAR (4)]

 CKHS-KKART = TKKEA-KKART 

0..N

1


